The Tree of Hub Location
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Figure 1: the Hub Location problem
Introducing a new type of nodes : .
stopovers .
» Stopovers are located on inter-hub links, not between hubs and . y
spokes . .
» The proposed topology with stopovers can reduce the number of ¢ )
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transshipments.

It can also reduce the operational costs.
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Graphic representation for the solution of an instance.
Source : Oscar A.
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- DU NUMERIQUE » The use of stopovers contributes to significantly reduce the traveled distance

» The stopovers slightly increase the traveling time of some commodities, and

o significantly decreases the traveling time of all commodities that use the
e o o ® o. O stopovers.
" o » The use of stopovers avoids costly backward trip and transshipment : this
. o educes operational costs.
® ®
o% e ® i » The process to define the network is complex despite the fact the tree is already
m o e I s established in a river.
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B o » Develop a heuristic or exact solution method to tackle medium and large scale

problems.

» Extend the model by considering the distances and demands from ad-hoc cities
that are not located on the river (but not too far).

Figure 2: Graphical representation of the Tree of Hub
Location with stopovers » Enrich the model by considering the interconnections with other types of

networks, e.g., maritime, rail, roads...
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» Consider constraints on capacity, frequency and transportation modes, so the
\_ -/ \_ environment modeled will be closer to an actual one. -/
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